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Maximum size of silt size particles as per I.S. classification is

(a) 0.425 mm

(b) 2 mm

(c) 0.75 mm

(d) 0.075 mm
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The type of footing in which the load bearing structures share the
common rectangular or trapezoidal footing is called:

(a) Eccentric footing

(b) Stepped footing

(c) Combined footing

(d) Isolated footing
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What is the LIQUEFACTION phenomenon about soil failure?

(a) Sand loses its shear strength due to oscillatory motion.

(b) Failure of soil under Liquid retaining hydraulic structures.

(c) Failure of soil slopes.

(d) Bearing failure of sand under heavy loads.
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A direct shear test was conducted on a cohesionless soil (c = 0)
specimen under a normal stress of 100 kPa. The specimen failed
at a shear stress of 100 kPa. The angle of internal friction of the
soil is ______________

(a) 45°

(b) 15°

(c) 30°

(d) 60°
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The critical gradient for all soils is normally

(a) 0.5

(b) 1.0

(c) 1.5

(d) 2.5
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Which of the below indirect method for calculating coefficient of
permeability satisfies the expression K = C × D²₁₀

(a) Composite test data

(b) Allen hazen’s formula

(c) Kozeny-carman equation

(d) Loudon’s formula
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Root time method is used to determine ________

(a) T, time factor

(b) CV, Coefficient of Consolidation

(c) aV, Coefficient of compressibility.

(d) mV, Coefficient of volume compressibility
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Consolidation of soil deposit can be divided into:

(a) initial, primary, secondary

(b) initial, primary, final

(c) primary, secondary, final

(d) initial, secondary, final
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Let E₂ and E₁ represent compaction energy deployed for
compacting the soil as per modified compaction test and standard
test, as per IS.

Choose from the following correct ratio 𝑬𝟐
𝑬𝟏

:

(a) 4.5 times

(b) 3.5 times

(c) 2 times

(d) None of the above
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What is the size of colloidal particle?

(a) 10-3 – 10-6 mm

(b) > 10-8

(c) 10-6 – 10-8 mm

(d) 10-1 – 10-3 mm
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A soil sample has liquid limit as 45%, plastic limit as 25% and
shrinkage limit as 14% for a natural water content 30%, the
liquidity index of the soil is -

(a) 75%

(b) 80%

(c) 25%

(d) 40%
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The group index value of soil subgrade in pavement construction
is 8. the subgrade soil is rated as:

(a) Poor

(b) Fair

(c) Very poor

(d) Good
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Alcohol method is used to find which type of soil property?

(a) Bulk density

(b) Specific gravity

(c) Dry density

(d) Water content

USE MAX DISCOUNT CODE Y579 



Alcohol method is used to find which type of soil property?

(a) Bulk density

(b) Specific gravity

(c) Dry density

(d) Water content

USE MAX DISCOUNT CODE Y579 



The property of a soil due to which the loss in shear strength
caused by remoulding can be regained with the time is known as:-

(a) Activity

(b) Sensitivity

(c) Thixotropy

(d) Consistency re-gain
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In comparison to Atterberg limits of normal soil, the expansive
soils have which of the following properties.

(i) More liquid limit

(ii) Less plastic limit

(iii)Less shrinkage limit

(iv)More volumetric shrinkage

Select the correct answers using the codes given below.

(a) (i), (ii), (iii) and (iv)

(b) (i), (iii) and (iv)

(c) (ii), (iii) and (iv)

(d) (i), (ii) and (iv)
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Plate load test is used to determine:

(a) Depth of foundation

(b) Building dampness

(c) Thickness of pavement layer

(d) The bearing capacity of the soil
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The void ratios at the densest, loosest, and natural states of a sand
deposit are 0.2, 0.6, and 0.4, respectively. The relative density of
the deposit is:

(a) 100%

(b) 75%

(c) 50%

(d) 25%
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In standard proctor compaction test, as per IS specification the
mass of the rammer and height of fall is __________ respectively

(a) 4.89 kg and 310 mm

(b) 2.6 kg and 310 mm

(c) 2.6 kg and 450 mm

(d) 4.89 kg and 450 mm
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A saturated clay layer with double drainage taken 5 years to attain
90% degree of consolidation under a structure. If the same layer
were to be single drained, what would be time (in years) required
to attain the same consolidation under the same loading
conditions?

(a) 10

(b) 15

(c) 20

(d) 25
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Which of the following methods is not used for measuring the in-
situ density of compacted soils?

(a) Nuclear density gauge method

(b) water replacement method

(c) Sand replacement method

(d) Cassagrande’s method
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The minimum number of observation wells required, to
determine the permeability of a stratum in the field by a pumping
test is:

(a) 1

(b) 2

(c) 3

(d) 4
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Select the sequence of clay minerals in decreasing order with
respect to the plasticity index is

(a) Kaolinite > Illite > Montmorillonite

(b) Montmorillonite > Illite > Kaolinite

(c) Illite > Kaolinite > Montmorillionite

(d) Montmorillonite > Kaolinite > Illite
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The soil is having unit weight of 20 kN/m² and depth of
foundation is equal to 1.2 m, if the net bearing capacity of soil is
2532 kN/m², then the safe bearing capacity for facto of safety 3 is
equal to _____________.

(a) 282 kN/m²

(b) 1140 kN/m²

(c) 874 kN/m²

(d) 173 kN/m²
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Which statement is not true regarding specific gravity?

(a) 50 ml density bottle is useful for all types of soil

(b) Kerosene is used in density bottles

(c) 500 ml flask is used only for fine grained soils

(d) Pycnometer is used only for coarse-grained soil
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Fig. shows stress distribution below footing:

(a) Rigid footing on clayey soil

(b) Rigid footing on sandy soil

(c) Flexible footing on clayey soil

(d) Flexible footing on sandy soil
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The equation for the determination of compression index for the
remoulded soil (For distributed low to medium sensitive soil) is
given by:

(a) CC = 0.007 (WL – 10%)

(b) CC = 0.007 (WL – 20%)

(c) CC = 0.009 (WL – 10%)

(d) CC = 0.007 (WL – 30%)
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Toughness index of a soil is the ratio of -

(a) Flow index to shrinkage flow index

(b) Plasticity index to flow index

(c) Flow index to consistency index

(d) Liquidity index to the flow index
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The example of soil transported/formed by wind

(a) Marl

(b) Drift

(c) Loess

(d) Talus
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The geostatic stress on the soil is due to the ____________ of the soil.

(a) Explosion

(b) Self weight

(c) Vibration

(d) Excavation
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(a)

(b)

(c)

(d)
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